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9.

Instructions for the Candidates
Write your roll number in the space provided on the top of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination. the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklel. tear off the paper
scal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open hooklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing or
duplicate or not in serial order or any other discrepancy
should be got replaced immediately by a correct booklet
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.,

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet,

Each item has four alternative responses marked (A), (B). (C)
and (D). You have to darken the oval as indicated below on the
correcl responsc against each item.

Example: > B @ ©

where (C) is the correct response.

(ii)

(iii)

Your responses to the items are to be indicated in the OMR Sheet
kept inside the Paper 1 Booklet only. If you mark at any place
other than in the ovals in the Answer Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Shecet, except for the space allotied for the relevant entrics,
which may disclose your identity, you will render yourself liable
to disqualification.

You have to return the test question booklet and OMR Answer
Sheet to the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.
Use only Blue/Black Ball point pen.

. Use of any calculator or log table etc., is prohibited.

There is no ncgauvc marks for incorrect answers.
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POLITICAL SCIENCE
Sexgor—11
Paper - 11
BRUE : 53 TFOID TI3Rom 2T (2) weEnd) Brodts R (50)=HAF Srwood TIRERD,
LERRORT. SQ BINIER, YUZOR.
Note : This paper contains fifty (50) objective type questions, each question carries two (2)

marks. Attempt all questions.
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1. Who among the following expounded

modern individualism ?
(A) G.W.F. Hegel

(B) Stephen Leacock
(C) Harold J. Laski
(D) Graham Wallas

. Who said “The state is the product and

the manifestation of the irreconcilability
of class antagonism ?

(A) F. Engels

(B) V.I. Lenin

(C) Mao Tse Tung

(D) Antonio Gramsci

. Who among the following compared

politicians to craftmen ?
(A) Plato

(B) Xenophon

(C) Aristotle

(D) Niccolo Machiavelli

. The difference between liberty as the

freedom to act and liberty as the absence
of coercion was first recognised by

(A) Niccolo Machiavelli

(B) John Locke

(C) John Stuart Mill

(D) James Mill
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oppressive power relations in
reflected in

(A) Polyarchy
(B) Deliberative Democracy
(C) Radical Democracy

(D) Minimalism

. The Indian political thinker who

advocated the view that an economy
based on widespread decentralisation
and practice of co-operation was

(A) Rabindranath Tagore
(B) M.N. Roy

(C) Jawaharlal Nehru
(D) B.R. Ambedkar

. Match List-I with List -II and select the

correct answer from the codes given
below :

List-I List-IT
a) Legal sovereignty (1) J.J. Rousscau
b) Political sovereignty (ii) Thomas Hobbes
¢) Popularsovereignty (iii) Hugo Grotius
d) External sovercignty (iv) John Locke
a b ¢ d
A Gy Gv) @) ()
B) Gv) G (@Gi) 1)
© ai) Gv)y ) @
D) Gv) ) @G (>Gi)
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10.

correct answer from the codc?
below :

List-1 List-1I

(a) Fragments of (i) G.W.F. Hegel

Government

(b) Philosophy of (ii) Karl Marx

Rights
(¢) De Homine  (i11) Thomas Hobbes

(d) State and (iv) Jeremy Bentham

Revolution (v) V.I. Lenin
Codes :
a b g d
(A) (v) (1) (v) (i)
(B) (v) (1) (@Gi)  (v)
(C) (v) (v) (i) (D)
(D) (iv) (1) (1)  (i1)

Who among the following advocated that
“In a just society everyonc is cntitled to
what they possess. Therefore it is unjust
to take away something from one and
give it to another”.

(A) John Rawls

(B) Robert Kaplan

(C) Robert Nozick

(D) Mahatma Gandhi

Who demanded a radical social solution
for solving the problems of Indian social
structure ?

(A) Aurobindo Ghosh

(B) Veer Savarkar

(C) B. R. Ambedkar

(D) Jayaprakash Narayan
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13.

Which approach is also
structural functional approac

(A) Legal Approach

(B) Institutional Approach
(C) Historical Approach
(D) Political-Sociology Approach

Onc of the following i1s a conceptual

problem faced in the study of political

culture approach

(A) Lack of consensus among scholars
in defining culture

(B) Culture does not belong to the
domain of politics

(C) Cultures are incomparable

(D) All cultures are essentially the same

Given below are two statements, one
labelled as assertion (A) and the other
labelled as Reason (R)

Assertion (A) : The cognitive orientation
of political values strengthens political
culture in a political system.

Reason (R) : The public are in a position
to judge political values and therefore can
help in formulating political culture.

In the context of above two statements

which one of the following is correct ?

(A) Both (A) and (R) are true but (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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14. Assertion (A) : In developin®

15.

16.

/8

political process is
influenced by the factors of traditio

modernity.

Reason (R) : Political developments in

developing countrics are conditioned by

issues of historical and

contemporary demands.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

forces

In a federation the self-governing status
of the component states is typically

(A) Altered by the decisions of Central
Government

(B) Unstable in nature
(C) Entrenched in the Constitution
(D) At the mercy of the head of the state

Political Economy analysis in the study
of comparative politics is propounded by
(A) William Riker

(B) Roger Charlton

(C) Ronald H. Chilcote

(D) Gabriel Almond and G.B. Powell

Dependency theories primarily focus on

(A) Transfer of resources from
metropolis to villages

(B) Gains to metropolis
(C) The disadvantages to the periphery

(D) Causes of economic stagnation
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20.

below :

List I

a) Interest (1) Social capita

articulation

b) Political
development

(i1) Grants-in-aid

¢) Co-operative (iii) Samuel P.

I'ederalism Huntington

d) Civil society  (iv) Pressue groups

Codes :

a b c d
A () G @) (1)
B) () av) G (i)
© (@Gv) (@) aG) @)
D) G G Gv) @0

Who among the following emphasised the
idea that social capital formation is crucial
to the success of modern democracy ?

(A) Thomas L. Friedman
(B) Robert A. Dahl

(C) John Rawls

(D) Robert Putnam

Co-operative federalism was invented in
the U.S. federal system in the backdrop of

(A) Cold war developments

(B) Post cold war scenario
(C) Civil warin U.S.A.

(D) New dcal measures
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25.

Name the President of Ind
elected unopposed by the @
college.

(A) Neelam Sanjeev Reddy
(B) K.R. Narayanan

(C) Dr. Rajendra Prasad
(D) Abdul Kalam

21.

The non-violability of the basic structure
and spirit of the Constitution was
highlighted by the Supreme Court in the
judgement related to

(A) Menaka Gandhi Case

(B) Minerva Mills Case

(C) Golaknath Case

(D) Keshavananda Bharathi Case

22.

Political instability in Indian States may

be attributed to

(A) Factional rivalry within political
parties

(B) Single party dominance

(C) Large population

(D) Weak legislatures

23.

Who was the motivating force behind the
preparation of preamble ?

(A) Jawaharlal Nehru

(B) Sardar Vallabhbhai Patel

(C) Mahatma Gandhi

(D) Babasaheb Ambedkar

24,

The economic and social planning comes
under

(A) Union list

(B) State list

(C) Concurrent list

(D) Residuary powers

25.
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27.

28.

29.

(A) State Legislative Councils
(B) State Legislative Assemblies
(C) Rajya Sabha

(D) Lok Sabha

What was the significance of sixty sixth
Constitutional Amendment of 1990 ?

(A) Made provision for the extension of
President’s rule in Punjab

(B) Land Reforms Act of various States
were brought under 9™ schedule

(C) Reduced the voting age from 21 to
18

(D) Enabled states to reserve seats in
private unaided educational
institutions for SCs, STs and OBCs.

Which Article in Indian Constitution
provides for Inter-State Council for
promoting co-operation between states of
the Indian Union ?

(A) Article 305
(B) Article 357
(C) Article 263
(D) Article 272

Which part of the Indian Constitution is
described by K. M. Munshi as the
“Political horoscope” ?

(A) The Preamble
(B) Fundamental Rights
(C) Fundamental Duties

(D) Special provisions for weaker
_ sections
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activities.
(A) Public Interest Litigation
(B) Judicial Review

(C) Right to Information Act
(D) Judicial Activism

31. Structural theory of organisation is also
known as

(A) Bureaucratic theory
(B) Classical theory
(C) Behavioralist theory
(D) Systems theory

32. Who argued that the “lack of industrial
development in the third world is due to
its economic resources and ‘surplus’
being drained North words to the
‘Metropolitan’ centres” ?

(A) Dependency theorists
(B) Under development theorists
(C) Political economy theorists

(D) Modernisation theorists

33. Which one of the following is not a part
of the budget making ?

(A) Guillotine
(B) Estimates should be on cash basis
(C) Rule of lapse

(D) Budget is prepared on the basis of
net income
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33,

36.

37

choice activity in public
are related to

(A) Unity of command
(B) Hierarchy

(C) Decision making
(D) Authority

Audit enables to detect

(A) The legal procedures followed by the
executive

(B) The relationship between civil,
servant and minister

(C) Propriety of decisions taken by the
executive

(D) Wrong budgeting and financial
irregularities

According to public choice theorists, the

bureaucrats have the following

characteristics. Choose the odd one

among these.

(A) The bureaucrats have self-interested
nature

(B) The bureaucrats are not rational
decision makers

(C) The bureaucrats pursue goals such
as maximising the power, resource
base and authority

(D) The bureaucrats are not neutral in
public interest

Gunnar Myrdal viewed ‘under
development’ as

(A) A concept of static condition

(B) A tendency to oppose
westernization

(C) Lacking performance capabilities

(D) A dynamic concept as opposed to
static conditions
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42,
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the ‘Lokayukta’ institution in Sou
(A) Kerala

(B) Karnataka

(C) Andhra Pradesh

(D) Tamil Nadu

The principle of scalar chain was devised by
(A) Henry Fayol

(B) L.Urwick

(C) Frederick Taylor

(D) Chester I. Bernard

. Which among the following is linked to
“Bhoomi’ project in Karnataka ?
(A) Indigenous land rights
(B) Land reforms
(C) Land rights through e-governance
(D) Lands in scheduled areas

. “International politics is a struggle for
power” is the statement by

(A) Morton Kaplan
(B) Hans Morganthau
(C) George Kennan
(D) Henry Kissinger

‘Atoms for Peace” plan was proposed by
(A) Woodrow Wilson

(B) President Eisenhower

(C) President Roosvelt

(D) Winston Churchil

. The assumption of Idealist school about
the nature of human being is

(A) They are selfish and aggressive
(B) They behave unpredictably
(C) They have innate goodness
(D) Their behaviour is indifferent
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countries one of the following gamd
be used.

(A) Kitchen Cabinet
(B) Prisoner’s Dilemma
(C) Gymnastics

(D) Soccer

W.T.O. is primarily an organisation for

(A) Improving the economies of
underdeveloped countries

(B) Enhancing the scope of powerful
nations

(C) Liberalization of international trade

(D) Regulate the economies of small
states

The doctrine which emphasised that
“States are responsible for what goes on
inside their borders™ is called

(A) Munroe Doctrine
(B) Bush Doctrine

(C) Gujral Doctrine

(D) West Phalia Doctrine

In Game Theory, “One person’s gain is
equal to the other’s loss” is called as

(A) Zero-sum game
(B) Non zero-sum game

(C) Prisoner’s Dilemma

(D) Sequential game
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50.

The World System Theory was

propounded by

(A) Barrington Moore
(B) Immanuel Wallerstein
(C) Fernando Cordoso
(D) Andre Gunder Frank

The development and implementation of
peaceful strategies for settling
international tension is called

(A) Constructivism
(B) Conflict Resolution
(C) Post-Modernism
(D) Neo-Realism

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R)

Assertion (A) :

The PTBT and the NPT were not
completely successful in achieving
universal nuclear disarmament.

Reason (R) :

Unless India and Pakistan sign the NPT,

Nuclear disarmament will not succeed in

South Asia.

(A) Both (A) and (R) are true, (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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